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Int x,y;
float {;
char ch;

scanf(““%d”,&x);

s

scanf(“%d%d”,&x,&v);

scanf(“%d  %d”,&x,&v);

scanf(“%d , %d”,&x,&Y);

scant(*%d %d %t

v, &x , &y, &z,
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#include <stdio.h> bt
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#include <conio.h>
#define p1 3.14
int main()

d

Int r;

o)._s“é el Qrea
°):’..“3 .L::.Ow p

Enter the radius: 10
float area, p; Area = 314.00, p = 62.80

clrscr();

printf(“Enter the radius:”);

scanf(“%d”, &r);

area=p1 *r *r;

p=2%p1*r;

printf(“Area = %6.21, p = %6.21”, area, p);
return O;
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char ch="q’; 9,5
printf(““%c”,ch); q

char ch;
scanf(“%c”,&ch);
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oetche()

e = getch();
e = getche();
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ogetch();

getche();
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#include <stdio.h> > 9,5
#include <conio.h> Enter a character : s
int main() ch=s,ch=115
f
char ch;
clrscr();

printf(“Enter a character : ),

ch = getche();

printf(“\n ch=%c, ch=%d”, ch , ch);
getch();

return O;
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putchar()
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putch (,osc);
putch (*:51,57);

putchar (,.=u);
putchar (° ;51,57);
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#include <stdio.h>
#1include <conio.h>
int main()
f
char ch;
clrscr();
printf(““Enter a character:”);
ch = getchar();
printf(“\n You typed the character: *);
putch(ch);
getch();
return 0;

Enter a character : s
You type the character: s
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#include <stdio.h> T
#include <conio.h> o 03 dw Z g Y X
int main() (s Lael sae) Kl ave
d

Iint x, y, z;

float ave; Enter three integers: 12 14 18

clrscr(); Average = 14.67

printf(“\nEnter three integers:”);
scani(“%d%d%d”, &x, &y, &z);
ave = (float) (x +y+2z)/ 3;
printf(“\nAverage = %6.21", ave);
getch();

return O;
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